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➫ Mn
)@- �$� + ��2 - � �H-A>9�9-A>�
 n � /D/
� )@- ���p2 Θ = θ

➫ Ynj
4 �.6�/�2 -9#7+0/���2 - � ) � - j = 1, . . . ,Mn

� /D/
� !
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p� /�� /�2 � �:� 4:� Nt
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F =

(

U,
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{wn(t)}∞n=1 ,ωt
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


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1 ) � - n = t
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➫ � �.��
��\6�/ B;�;!,4@�^�.� 3 � � -.+<��4@�^�.� 3 �
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A#7+\�;��
w� /�� /�2 wn = lim
t→∞

wn(t)

➫ � 	��\6�/ ) � - ∀n ∈ N
!X�(�����\6�/ �:� 4:� � ���:� N∞ � �

(

U,{wn}
∞

n=1
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M0,Y00 ≡ 0 �

Ξn = (M0,M1, . . . ,Mn−1,Y00,Y10, . . . ,

Y1M1
, . . . ,Yn−10, . . . ,Yn−1Mn−1

)′ ∈ Hn

➫ '*�"-�� /���!_#7+\!,4(=
Kt ⊂ R

α �p2 �(� α ∈ N

➫ #0!$��>@-@4�!"1

 �;�92 6
!"� ��! �
t,n � � � Ztn : Hn 7→ Kt+ �8�p�@/�#7+&- � /
� 7→ #7+\!,4 � � � �$��� Zn = Ztn,∀t �

➫ #0!$��>@-@4�!"1

 � B(�(201$� �
t,n � � � atn : Kt 7→ R+

+ �8�
#7+\!,4 7→ )@- �</�#7+8� 3 � � � �$��� at = atn,∀n �
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)@-9#�6 -AB()(�"-9#7+ 
 S =

(

{Zt•}
∞

t=1 ,{at•}
∞

t=1

) �
Zt• = {Ztn|n ∈ N} � at• = {atn|n ∈ N}

➫
� %;#7+<3.' >@-A�(B;#5'C!96DB;# � ��� � � � �*�.4"- �</
1$�
S =

(

{Zn}
∞

n=1 ,{at}
∞

t=1

)

➫ Zt1((0,0)′) = kt ∈ Kt
� � �;�92 6
!"� ��
�#7+\!,4
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Asymptotické sazbovací základny a BMS

� �.6�/ S
��� � �

Kt = K � �p)�!92
➫ Z

(∞)
U

� � !$#;�A#0!$��>@-@4�!"1

A�;�92 6
!"� ��!PB;�(�w)@- ��+�� -A6�/�!
Pθ

(

Z
(∞)
U

= j
)

= lim
n→∞

Pθ (Zn = j) ,∀j ∈ K

➫ Z
(∞)
O

� � !$#;�A#0!$��>@-@4�!"1

A�;�92 6
!"� ��! -.+,�w)@- ��+�� -A6�/�!
Pθ

(

Z
(∞)
O

= j
)

= lim
t→∞

Pθ (ZNt
= j)

➫
��� � (

Z
(∞)
F

,a
) #\�e��!$� �$4�� !$#;� ��� � � 2 �(�

Z
(∞)
F

� �X!$#;�A#0!$�(� �;�92 6
!"� ��!e! a #0!$�(��� B(�(201$�
� � -

F
)@- ��+�� -A6�/ - 'C�9'|� ZNt

→ Z
(∞)
F

) � - t →∞� + �8�w) � - B;�;!,4@�^�.� 3a/:-.+<��4@�^�.� 3e)@- ��+�� -A6�/ - �
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Příklad — Keňský BMS

8-: K J���� Nrj ; t ��� q<; t�� 8-: K J���� � Zn �
� Zn−1) J ;�� � 8-:fq	� }<; Mn−1 = 0 Mn−1 ≥ 
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➫ ��!9�(6
� �\�.� 3 ��2 - �.% Kn
�
0 ≤ Kn ≤ Mn �

➫ ) ��#7+,� � �,� ��2 - � !?)"�^� # y � � � G(y) = 1−G(y)

➫ ) � - � !9� 3 Mn = m 'C� Kn ∼ Bi
(

m,G(sn)
)

>9� �5-A�(6��$� BP��!?�"- � �"-.+8B Θ

E [Kn|Mn = m] = G(sn)m,

EKn = G(sn)EMn
!

EΘ Kn = G(sn)EΘ Mn.

➫ � � % � Mn|Θ = θ ∼ Po(θ) � ) - + - ' � � � - � � � 6 � � 

Kn|Θ = θ ∼ Po

(

θG(sn)
) � � ) - 2 B � � ! 4 
 1

Θ ∼ Γ(h,τ) � � � ΘG(sn) ∼ Γ
(

h,τ/G(sn)
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